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qg=2xH/m, F =5 «kH,
M =1 xHwm, cosa = 0.8.

3amaga S-34.1. 6 3agaua S-34.2.
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qg=4xH/m, F =15 xH, qg=2xH/m, F =10 xH,
M = 18 kHwm, cosa = 0.8. M =17 xHwm, cosa = 0.8.
3amaga S-34.3. 6 3agaua S-34.4.
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g =6 xxH/m, F =10 xH, g=4xH/m, F =15 &H,
M =7 xHwm, cosa = 0.8. M =15 kHwm, cosa = 0.8.
3amaua S-34.5. 6 3amaua S-34.6.
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q=06x«kH/m, FF=15H,
M = 33 xHwm, cos a = 0.8.




3amaua S-34.7.

3amaua S-34.8.
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qg=4«xH/m, F =10 xH, qg=4xH/m, FF=15«H,
M = 25 xHwm, cosa = 0.8. M = 33 xHwm, cosa = 0.8.
3amaua S-34.9. 6 3amaua S-34.10.
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qg=4xH/m, F =15 xH, qg=6xH/m, F =15 «H,
M = 48 kHwm, cosa = 0.8. M = 27 kHwm, cosa = 0.8.
3agaya S-34.11. 6 3agaua S-34.12.
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g=2xH/m, F =5 xH,
M =1 xHwm, cosa = 0.8.

qg=2xH/m, F =15 «H,
M =12 xHwm, cosa = 0.8.

3amaua S-34.13.
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qg=6xH/m, F =15 xH,
M =9 xHwm, cosa = 0.8.

3amaua S-34.14.
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qg=6xH/m, F =10 xH,
M =10 kHwm, cosa = 0.8.




3amauga S-34.15.
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qg=4«xH/m, F =10 xH,
M =1 xHwm, cosa = 0.8.

3amaua S-34.16.
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qg=2xH/m, F =5 «kH,
M =13 xHwm, cosa = 0.8.

3agaua S-34.17.

3agaua S-34.18.
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qg=2xH/m, F =15 xH, qg=4xH/m, F =20 xH,
M =12 xHwm, cosa = 0.8. M =59 kHwm, cosa = 0.8.
3agaya S-34.19. 3agauya S-34.20.
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qg=6xH/m, FF =10 xH,
M =10 xHwm, cosa = 0.8.
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g=6xH/m, F=5«kH,
M =19 xHwm, cosa = 0.8.

3amaua S-34.21.
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qg=6xH/m, F =10 xH,
M = 20 xHwm, cos a = 0.8.

3amaua S-34.22.
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qg=2xH/m, F =15 «H,
M = 24 xHwm, cosa = 0.8.




3amaua S-34.23.
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q=06«H/m, FF =15 &H,
M = 15 xHwm, cosa = 0.8.

3amaua S-34.24.
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qg=2xH/m, F =10 «H,
M =19 xHwm, cos a = 0.8.

3agaua S-34.25.
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qg=2xH/m, F =20 xH,
M = 53 kHwm, cosa = 0.8.

3agaua S-34.26.
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qg=2xH/m, F =15 «H,
M = 33 xkHwm, cosa = 0.8.

3amaua S-34.27.
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g=4xH/m, F =15 xH,
M = 33 xHwm, cosa = 0.8.

3amaua S-34.28.
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g=4xH/m, F =15 «H,
M =12 xHwm, cosa = 0.8.

3amaua S-34.29.
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g=4xH/m, F =5 xH,
M =16 xHwm, cosa = 0.8.

3amaua S-34.30.
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qg=6xH/m, F =10 xH,
M = 37 xHwm, cos a = 0.8.
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CocTaBHasg paMa C JIMHEITHO pacrpeeJIeHHON Harpy3Koiil2.02.2015

Nl XYy | X | Y5
1 |14 |10 |16 |-7
2 |8 -1 [-16 | -8
3 |-0 |-17|-3 |20
4 |1-6 |3 |18 |0
o |0 1 |4 -1
6 |19 |-5 [-31 |23
7 -5 |15 |13 |-3
8§ |16 |-1 |-28 |-14
9 121 |6 [-33 |9
10-14 |1 26 |-19
111-3 |7 |-1 |-7
12 14 -4 |-16 | -2
137 23 |5 -23
1414 -2 |12 |5
15-1 |1 -7 -1
16|-6 |-1 |10 |-5
171-3 |6 15 |0
18117 |-25|-33 |7
193 16 |5 -19
20110 |1 -14 | -13
211-13 |-6 |21 |21
22115 |-6 |-27 |18
23 |4 7 |-16 | -7
24 | 3 -13 | -11 | 10
25 1-12 129 |28 |-14
26 | -16 | -1 |28 |-11
27 1-16 | 1 28 |14
28 1-1 |-10|13 |7
29 | 8 0 |-12 19
30 (-19 [-1 |27 |16
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